t53_fomodel0
(TMWSweqgvZ3JYtTbaedaiFRcEybrvEEq6GI)

October 27, 2020

Let vl_xzboole 0 : t=0 be given. Let vlrelat.l : =0 be given. Let
vl_funct_1 : 1=0 be given. Let vl_finseq-1 : t==>0 be given. Let rl_tarski :
t=-1=0 be given. Let k3_finseq 2 : 1=-1 be given. Let vb_relat_1 : 1=1=0
be given. Let vl_setfam_1 : 1=0 be given. Let kl_zboole_0 : ¢ be given.
Let k1_funct.l : t=1=1 be given. Let k8_fomodel0 : 1= be given. Let
ml_subset_1 : t=-t=>0 be given. Let k1_zfmisc_1 : 1=t be given. Let k13_finseq_1 :
t=t be given. Let k2_fomodel0 : t=1=-1 be given. Assume the following.

VX0.VX1.(—vl_zboole-0 X1)=(VX2.(—vl_zboole_0
X2)=(VX3.((vlrelat-1 X3)A((vl_funct-l X3)A(vl_finseq-1
X3)))=((—(k1_funct_1 (k8_fomodel0 X1) X0#£k1 _xboole 0)A((k1_funct_1
(k8_fomodeld X2) X0#£k1 _xboole 0)A(k1_funct_1 (k8_fomodel0 X1)
X0#£k1_funct_1 (k8_fomodel0 X2) X0)))A(((v5relat-1 X3 (k3_finseq-2
k1 _zboole 0))=-(k1l_funct_1 (k8-fomodel0 X1) X3 = kl_xboole_0))A
(((k1-funct_1 (k8_fomodel0 X1) X3 = k1l _zboole 0)A(v5_relat_1
X3 (k3_finseq2 X1)))=(vb_relat-1 X3 (k3_finseq-2 k1_xboole0)))))))
1)
Assume the following.
VX0.VX1.(ml_subset_1 X0 (kl_zfmisc.1 X1))e(rl tarski @)
X0 X1)

Assume the following.
VX0.k3_finseq 2 X0 = k13_finseq_1 X0 (3)

Assume the following.

VX0.VX1.(ml_subset 1 X1 (kl_zfmisc_.1 X0))=(k2_fomodel0 (@)
X0 X1 =Fkl13_finseq1 X1)

Assume the following.

VX0.VX1.(ml_subset_1 X1 (kl_zfmisc.1 X0))=((—vl_zboole_0
(k2_fomodel0 X0 X1))A(ml_subset_1 (k2_fomodel0 X0 X1) (k1_zfmisc_1

(k3-finseq-2 X0))))
(5)



Assume the following.

VX0.¥X1.(ml_subset.1 X1 (kl_zfmisc.1 X0))=(VX2.
((vlrelat-l X2)A(vb-relat1 X2 X1))=((vlrelat_.1 X2)A(v5_relat-1  (6)
X2 X0)))

Theorem 1

VX0.YX1.(—vl_-zboole 0 X1)=(VX2.(—vl_zboole 0
X2)=(VX3.(vlrelat-l X3)A((v1-funct-l X3)A(vl_finseq-1
X3))=(((rltarski X1 X2)A((rl-tarski X0 (k3_finseq-2 X1))A(
(vb_relat_1 X3 X0)A(vl_setfam_1 X0))))=((X3 = kl_xboole_0)V(
k1_funct1 (k8_fomodel0 X1) X3 = kl_funct_1 (k8_fomodel0 X2) X3)))))



